SEANDI

The latest technology in
greenfouse, tunnels and shadefalls.

longitudinal slope

MMMU\MMMM

Slope of the ground 0,6% - 1,5%

Crossfall

Inclines to be respected at construction site




C TRADGARDSTEHNIKS

Initial method of tracking

1. Level the ground as indicated on the slope page.
2. Provide a grid on the ground by fixed wires. The fixed wires must be perfectly parallel and perpendicular to each other and to comply with the project.

3. Perform numerous measurements of the spaces between the lines to obtain a good precision.

Layout at construction site B




< TRADGARDSTEHNIH

ON

sjejuOZLIOY 8dN0Y - UOIJO8S [BJUOZIIOH - 8|eJUOZZII0 BUOIZES

Mounting instructions




Q‘ -TﬁﬁﬂﬁﬁﬂDSTEﬂmH?

Mounting instructions D




Don't cut the film too short. Always make a
skirt of 8 cm.

 TRADGARDSTEHNIKS

Use the rubber mallet to secure the male
to the female profile

Use a putty knife to fix the
PVC female profile in
aluminum profile

FIXING SCHEME FOR ALUMINIUM AND PVC PROFILES

The joint between the aluminium profiles must not be in
correspondence with the joint of the eaves or the fastening
crossheams. The edges of the profiles must be offset between
each other, so cut the first PVC female profile at 1,5m and the
first male profile at 0,6m. In addition, 2 cm of expansion joint is
left between the var.ious PVC profile sticks.

z

Mounting information - Aluminium profiles and relative PVC clips. E




2,00 m

30,00 m2,00 m

}

2,00m

}

2,00 m

}

2,00m

}

2,00 m

}

2,00m

}

2,00 m

}

2,00m

{

4~1,60m-»—320m—+*1,60m—~

T

&

&

&

&

S I S S T S S S S S

#~1,60m-—»—320m—+1,60m -~

2,00 m

}

2,00m

2,00 m30,00 m

}

2,00 m

}

2,00m

}

2,00 m

}

2,00m

}

2,00 m

}

2,00m

}

2,00 m

{

& TRADGARDSTERMIHSY

EasyArt 6400

Plan




Column @60x2500 L.P.

/
Bolt 10x70 (301011070) .

N
)
Hole to be made at construction site
Foundation graft with helix @54x2x1200 HDG

M10 Nut (302010010)

300

1200

EasyArt 6400 Foundation detail




& TRADGARDSTERMIHSY

A[m]

1,50

B [m]

2,60

6400

EasyArt 6400




Detail A

@60x1,5x3050

round collar @60x1,5 CDG

Detail B

(VA0054)

(200011111)
/

M10 Nut

(302010010) 10x50 (301011050)

J32x1,5x3680

@32x1,5x2000

M10 nut

(302040010)

& TRADGARDSTEHNIHS

J60x1,5x3050

crossbar,

60x30x1,5

(301061090)

self drilling screws 4,8x19 (304004819)

Detail C

tirant @27x1,5x640

(302010010) &
N
<> ~

round collar @32x1,5 CDG

(200011103)

tirant, support culture
@32x1,5x3680

self drilling screws 4,8x19 (304004819) (301011050)

(200011111)

Detail D

@60x1,5 CDG

@27x1,5x640

@27x1,5x640 10x50 (301011050)

Fix the collars with self drilling screws 4,8x19

@60x1,5x3050

self drilling screws 4,8x19 (304004819)

Column @60x2450 L.P.

EasyArt 6400

Details




Round collar @60x1,5 CDG -

(200011111)

Column bracing @32

10x50 (301011050)

self drilling screws 4,8x19 (304004819)

10x50 (301011050)

& TRADGARDSTERNIHS

STEP Bracing lenght

2,00 m 2,40 m
STEP Bracing lenght
2,00 m 2,70 m

Column bracing @32

EasyArt 6400




3,20 m
6,40 m

M10 nut
Arch @60

(302040010)

Round collar @60x1,5 CDG

(200011111)

‘ \
/ ‘\\ Self drilling screws 4,8x19
Bolt M10x50 / | (304004819)

Column (301061050) |

@60x2x3250

EASYART 6400 Gable posts 6




Passo

Bolt M10x50

Arch @60

self drilling screws 4,8x19

"2 arch - post" brace B32x1,5x2500

 TRADGARDSTEHNIKS

@32x1,5x2500

B

STEP LENGHT

20m 2,50 m

"2 arch - post" brace @32x1,5x2500

M10 nut

(302040010)

Bolt M10x50

(301061050)

P //\_/\
:& -

Self drilling screws 4,8x19
(304004819) ToT

EASYART 6400

"2"d arch - post" bracing 7




Traversa 60x30x1515

Traversa 60x30x1,5x3115

Traversa 80x50x1,5x3115

& TRADGARDSTERNIKSY

Traversa 60x30x1515

Traversa 60x30x1515

Traversa 60x30x1515

Traversa laterale
60x30x1,5

Arco @60

Staffa Arco-traversa
Z.F. (200011237)

Viti autoperforanti 4,8x19
(304004819)

Traversa 60x30x1515

A

Traversa 60x30x1515

Montante

J60x3250

Staffa fiss. Trav. 60x30 orizz. su tondo Z.F.

(200011202)

Viti autoperforanti 4,8x19 (304004819)

Traversa 60x30x1,5

O

EasyArt 6400




@ Tﬂﬁﬂﬁﬂﬂﬂﬁl‘fﬁmﬂ?

Double aluminium clip - Clip

Single aluminium clip -

-
'
—
e
l} =
Single aluminium clip - :
)

\ self drilling screws 4,8x19 (304004819)

EasyArt 6400

Assembly detail of the plastic film on a corner




QTRADGARDSTEHNIHS

EasyArt 6400

Square tube details

10




& TRADGARDSTEHNINS

self drilling screws 4,8x19
(304004819)

EasyArt 6400 11




& TRADGARDSTERNIHS

25x25x1,5x6000 (100296000)

@60x1,5/2x4850

10x50 (301011050)

The plastic film of the cover will be fixed on the upper groove.
The plastic film of the sides will be fixed on the lower groove.

Single aluminium clip -

self drilling screws 4,8x19
(304004819)

The double aluminium profile must be used on the edges to block the piece of netting that binds the curtain bar.

EasyArt 6400 25x25 tube on the sides 12
| Postadress: URL: \
TRADGARDSTEKNIK AB Telefon : 0431-222 90 www.tradgardsteknik.se
Helsingborgsvagen 578, Varaldv Bg.nr : 5743-7980 E-postadress:
| 2629 ANGELHOLM Org.nr : 556409-6120 Info@tradgardsteknik.se




	Fogli e viste
	Modello

	Fogli e viste
	Modello

	Fogli e viste
	Modello

	Fogli e viste
	Modello

	Fogli e viste
	Modello

	Fogli e viste
	Modello

	Fogli e viste
	Modello

	Fogli e viste
	Modello

	Fogli e viste
	Modello

	Fogli e viste
	Modello

	Fogli e viste
	Modello

	Fogli e viste
	Modello

	Fogli e viste
	Modello

	Fogli e viste
	Modello

	Fogli e viste
	Modello

	Fogli e viste
	Modello

	Fogli e viste
	Modello




